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Third Year B.Com. Degree Examinations
October/November 2014
Directorate of Distance Education
COMMERCE
(DCC220) Paper: Income Tax Law and Practice

Time: 3 hrs] [Max.Marks: 70/80

Instructions to Candidates:

1. Students who have attended 30 Marks. IA Scheme will have to answer

for total of 70 Marks. . N . L
30 CAPUY: DAVJP ¥zwAik® 8gz «zAydUYh 70 CAPUY: ¥+UhU Gvj  idizA.

2. Students who have attended 20 Marks. IA Scheme will have to answer
for total of 80 Marks. | i . .
20 CAPUY, DAVjP ¥zwAil® 8gz «zAydUYA 80 CAPUY: ¥+lU%U Gvj ialzi.
3. Note: Q. No. (14 or 15) in Section-D is compulsory for 80 Marks Scheme
only. . . ) ) _—
80 CAPUY: TA<AERJU « "AU-r £°gi2 ¥4l ASi 14 Cx3A 15 PgAAIA.
SECTION - A
I Answer any TWO questions. 5 Marks each. 2X5=10

1. What is revenue receipt? Write five examples.

2. Define assessee and persons.

3. Mr. Nagaraj resides in Kolkotta, during the P.Y. 2012-13 he gets ~ 12,000 P.M. as
basic salary and DA 20% of Basic pay (enters for retirement benefits). He received
commission of ~ 15,000 (2% on turn over). HRA received by him ~ 11,800 PA. But
rent paid is ~ 14,800 PA. Calculate the taxable HRA in A.Y. 2013-14.

4. Mr. Gireesh resigned from service from a public co. on 30" Nov 2012. After
completing 24 years 10 months of service. During his service he was allowed to get
45 days of earned leave for every completed year of service. During his service he had
availed 10 months leave and had encashed 6 month leave on resignation. He was paid
leave salary of ~ 2,20,000 for his credit of 20 month earned leave. His average salary
during 10 month preceding to the date of his resignation was ~ 11,000. Calculate
taxable leave salary for the A.Y. 2013-14.

SECTION-B
. Answer any THREE questions. 10 Marks each. 3X10=30

5. Write a note on Deduction under Section 80C.

6. Write any 20 exempted income under Section 10.

7. Mr. Ravi furnished the following particulars of Income for the P.Y. 2012-13.

a) Interest on USA development bonds ~ 60,000 (2/5 is received in India)
b) Income from Agriculture in Canada ~ 1,80,000
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c) Income from property in Srilanka received there (* 80,000 remitted to India)
*1,20,000

d) Income from business in USA which is controlled from Mysore (* 18,000
received in India) ~ 78,000.

e) Dividend paid by an Indian company received in Canada ~ 56,000
f) Past untaxed foreign profit brought to India during 2012-13 ~ 1,05,000.
g) Profit from business in Mysore, but controlled from London ~ 72,000.
h) Profit from sale of building in Mysore but received in Dubai ~ 1,48,000.
i) Pension from Indian company received in London ~ 36,000.
j) Giftin cash from a relative received in India =~ 60,000.
Find out his total income during the A.Y. 2013-14, if he is

a) Ordinarily Resident

b) Not Ordinarily Resident

c) Non Resident

8. From the following income of Mr. Nagesh for the year ended 31-03-2013, compute
Income from other sources.

1. Director’s fees 10,000
2. Interest on bank deposits 3,000
3. Income from undisclosed sources 12,000
4. Winning from Lotteries (Net) 28,000
5. Royalty on book written 8,000
6. Income from lectures delivered 5,000
7. Interest on loan given to relative 7,000
8. Interest on tax free debentures of a company (Net) 3,600
9. Dividend from Co-operative society 8,000
10. Interest on Post Office S.B. Alc 500
11. Interest on Central Govt. Securities 2,200

He paid ~ 1,000 for typing of the manuscript of the book.

9. Compute the taxable Capital gain of Mr. Chandrashekar (Resident) for the A.Y.
2013-14:

i)  Sale price of shares of Lotus Ltd. acquired on 1-6-2011 and sold on 1-4-2012
~ 3,15,000 cost price of these shares ~ 1,05,000

i) Sale price of shares of Mayuri Ltd. acquired in 1989-90 (CIlI 172) Sold on 1-
12-2012 (Cll 852) — ~ 3,20,000 cost price of these shares ~ 75,000.

iii)  Sale price of Jewellary sold on 1-8-2012 ~ 3,50,000. Cost of Jewellary
acquired in 1985-86 (CII 133) — ~ 60,000

iv)  Sale of listed debentures on 1-2-2013 for ~ 2,30,000. These were purchased on
1-1-2014 for ~ 1,85,000.

v)  Goodwill of a profession is sold for ~ 1,75,000. FMV on 1-4-1981 is = 10,000.
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SECTION-C

I, Answer any TWO questions. 15 Marks each. 2X15=30

10. What is provident funds? Explain the Income Tax provisions of provident fund.

11. From the following information. Compute taxable salary of Mr. Gururaj for A.Y.

12.

13.

2013-14.

1. Basic pay - 1,92,000

2. DA (Not as per terms of employment) ~ 48,000.

3. Entertainment allowance ~ 36,000.

4. Bonus ™ 32,000.

5. Commission ~ 40,000.

6. Premium paid by employer on the life insurance policy of the employee ~ 5,000.
7. Employer contribution to R.P.F. at 14% of basic pay ~ 26,880.

8. Conveyance allowance for official duty ~ 4,200 PA.

9. Employer provided the facility of a sweeper ~ 2,400 PA.

10. Employee appointed gardener, whose salary paid by emmplyer = 3,000 PA.

ol
N

13.

. Employer paid electricity bill of employee ~ 10,000 PA.
. Employer paid Interest free loan for construction of a house, computed interest for

the year P.Y. ~ 9,000.
Free use of small car with driver for office and private purpose.

Determine the income from House property of Mr. Suresh for the A.Y. 2013-14 from
the following information.

Particulars I House Il House 111 House
Fair rent 84,000 84,000 84,000
Municipal value 72,000 72,000 72,000
Standard rent 80,000 90,000 78,000
Rent received 1,20,000 1,44,000 1,80,000
Unrealized rent 30,000 72,000 36,000
Local tax paid by the owner 6,000 12,000 18,000
Interest on loan for construction of the house 10,000 8,000 12,000
Interest on loan prior to construction 5,000 10,000 15,000
Unrealized rent of A.Y. 2012-13 Recovered during - - 36,000

the previous year

Ramesh submits the following details of his income for the year ending 31% March
2013.

a)

He lives in a rented house. He pays a rent of = 12,000 p.m. he has sub-let one-
third portion of the house on a rent of ~ 6,000 p.m. he has undertaken the liability
of paying municipal taxes of ~ 3,000 on the whole house and also repairs of the
whole house amounting to ~ 12,000.
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b) Income from agricultural land in Bangladesh ~ 40,000.
c) Dividend from UTT ~ 8,000.
d) He holds the following investments:

i) = 2,00,000, 9% tax-free commercial securities (not listed)
i) = 60,000, 7% debentures of JCT Mills Ltd.
i)~ 1,44,000, 10% tax free debentures of Life Insurance Corporation of India
(listed)

iv)  10% UP State Electricity Board Bonds ~ 20,000.
e) Interest on Postal Saving Bank Account ~ 2,000
f) Honorarium received for writing articles in magazines ~ 2,000

g) He is an examiner of a number of Universities. He received ~ 20,000 as
remuneration.

Compute his Income from other sources for the Assessment Year 2013-14.
SECTION-D

Note:- Compulsory question for 80 Marks scheme Students only.
Answer any ONE of the following questions. 10 Marks each. 1X10=10

14. Write the powers of Income Tax officer.

15. Define Capital Gain. And explain various types of capital gain.
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PEIQ D3w

« A -3

AiiARlzAzgEe Jggh ¥HUYWU Gvjt. v 4 5 CAPUY 2X5=10

L

DzAAIA 1APiw JAZgAER? 5 GzACgQUAIAEN PETY.

2. vjUzAg SAUE 2QAIAEL 2ASA,

3. 2Millv £AUghei PEABVZ =@ALAiIAVZA UvAud 2012-13g° ¥w wAU%U g&. 12,000
ajFRAAVE. vinvi 2UE® 2ivEz 2 #A 20guh (e@w _E® P ¥jut, AUkv)
ajiglz 2k~ +A 2gAv P«Ap£i gk. 15000 @i "ArU “"vi 2A6P g£. 11,800 PAUE
ghd¥ ¥iaw 2jigia “"ArU 2AT6P g 14,800 PAUAzg vjU ©APg°izAz 2if
“ArUAIA “"vi PAgi» r=ij.

4. 2hillv Vjiti A23doP PA¥o-iAZ CEAAP 30/11/2012gAzA PR, viFlzi 24 2ud 10
WAUY%: A2 °1givAg. E2jU ¥w Audz AAU 45 CEU% UWP ge E@ igivz.
OMUE E2g _AaA Ca¢Ail° 10 wAUY% geAilfl ¥qezi Pe, viFlz 2l 6 wAUY
geAil£ll £UCAPgE 2iArgivig. E2JU 20 wAUY% U%P geAil —"ASA gk. 2,20,0002£4
¥qeghvAg. PAEAIL 10 wAUY: ,gA.j ,A8% WAU%U gE. 11,000 ©AUAZg U%P gedAil
ajief£ vjU 2g2iA£2£l vjU 2ud 2013-14P Q2.

« AU - ©

AiiA2lzAzgk 2iEgh ¥HUBU GvjL. v 4 10 CAPUYA 3X10=30

5. oAilal 80AIl° 2iAgi® Prva£ll «2j1,

6. AiikdlzAzgE 20 vjU g»v 2g2iAEULER 8g—ij.

7. F PUWE @id»w—iAz vjU 2ud 2013-14P 2iAillv g«Aildg MIA 2g2il£2£l C2agh

(C) map1 (D) _ARiAE oai1 C® (E) CoaA1AjiAzg Q2

a) AilAJ,iJ. COAi¢ AAqQiUY%: 2A°E §r gk 60,000. (2/5 “Agvz® ¥gAil AVz)
b) PEqz°gi® "E«i-lMz 8Az 22 _AAilz 2g2iAE gk. 1,80,000.

c) 2i@APz°gi® D1-iAz §Az 2g2iAE£ (gE. 80,000 “"AgvP ¥A2wilz) gk. 1,20,000

d) Cajijpzegia @aojg 2 FjoAz  ocAilAw iwz. (gf 18,000 “"Agvz®
¥qAil AVZ) g£. 78,000.

e) “"AgwhAil PA¥o—iAZz 8Az TATAAL PEQAZ® ¥gAil AVz g£. 56,000
f) Uvaud 2012-13g° vjU g»v «zA2 2g2iifa£l ““AgvP vg AVz g£. 1,05,000.

g) 2k EjEcgid @aoigz ajieg TA, @aojgafil ®AqficAz ocAilAw, AUlwz gE.
72,000.

h) 2i £Ej£°gia Plqz 2iAghl¢Az §Az ~A"2£l zA'IE° ¥gAil Avz g&. 1,48,000.
i) “AgwAAil PA¥o—iAZ §AZ o3w 2AVEAEL ®AQEIES ¥QAik AVZ g£. 36,000.
i) .ABACPjAz GQqlUEQAIAER £UzA gE¥z° ¥gAil AVz g£. 60,000.
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8. F PUVE 2ik»wU%Az 2MAillv £AUMtIgRg Evg 2ME®CAZ §Az 2g2il£2£l vju
ayd 2013-14 Q1.

azoA+Pg +A® 10,000
"NAPT OAZ'E ZM°E 8Br 3,000
CWAATV SAMERUYAZ BAZ 2Q=IAE 12,000
Al Sg=IAE (02 28,000
¥A Pz 2M°E gAdzE 8,000
G¥£EA, oArP—AAZ B8Az 2g=AE 5,000
8AZAU%U oArz ARz ZM°E 8r 7,000
VJU 2MP r "AZgi 2M°E 8r 3,600
.CPAg _AWCAZ 8Az A AAE 8,000
CAZ PbAJAIA GY%VAAIA SAVAIA Br 500
PAAz _PAGgz "~"zvA ¥vz 2M°E 8r 2,200

2jAillv £AUAIg2gh ¥A_P alizt @z2jv gk. 1,000 cArzAg.
9. 2MAillv ZAz#ARgi (r2A1) E2g §Aq@AY 2gRIAE2EN vjU 2ud 2013-14P Q1.

i) T/EALT PA¥oAik +AgiUVER 1-6-2011g° RjAG1zA 1-4-2012g° gk. 3,15,000
Ajighl 2iArzi CcalUy, 20F® " gk. 1,05,000

i)  2iAghw PA¥oAik +AgiU%EN 1989-90 g° RjA¢izA (CII 172) CEAAP
1-12-2012 g°= 2iAgAl@iArzA (Cll 852) — g&. 3,20,000; D +AJ£ 24E® "
g/. 75,000.

iii) D gtU%EN 1-8-2012g° g 3,50,000P 2iAghl 2iArzi, D D "gtU% 2A£®
" 1985-86g° (CIl 133) — g£. 60,000

iv) £EAzA-lV  rAZgil%  2iAgAl2£H 1-2-2013g° gk 2,30,000 U%U
ajjghl@iArz;A. F r"AZgiU%ER 1-1-2004 gk. 1,85,000 U%U RjAC, —Avz.

v) @wAifAzg _AEARL @jAjzAd gE. 175000 Ezg FMV 1-4-1981gAZi
g/. 10,000.

« AU -1
1. AiiA2lzAzgke Jggh ¥HUWU Gvjt. v 4 15 CAPUYA. 2X15=30

10. ““«pin¢ JAZgAER? Czg 2gRIAE VU oAilRIUYEN «2j1.
1. 2Millv Ulgigheig®g F PYVE 2ik»wU%Az vjU 2pd 2013-14P vjUAIR 2AvE2EN

L
2
3.
4
5

P,
ajf@2AEv gk. 1,92,000
. vin Tvi (03wl ¥jUt, A2e®) gk 48,000.
alfgAd£A “"vi g 36,000.
“EAE T g, 32,000
P<«cMApET g/. 40,000.
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12.

13.

6. 2iA°APgh £EPgE 2A°E Fia «2iA PAVEM ¥A2wizi g&. 5,000.

7. CAVAPiv ““«pi o¢U 2jA°APg PEQAU A, 14%gAv g&. 26,880

8. CCPiv Pvoa o A-h @4 _EPAID ~"vi 2ATSP g&. 4,200.

9. eAg@iA°Ail 2AvE ¥iawizi gk. 2,400

10. VEALUAJP @iA° alve ¥iawizi 2A78P g&. 3,000

1. 2AEAIL «zhixi © 7 “"A8A 2Af6P g/&. 10,000

12. 2iA°APgh E2JU U oRiA3EPAV 8r g»v A®3EN ohrzl, Uv2pusdze Mn &r
«EA-Aw g£. 9,000.

2}Ailkv ,Agl\fn‘gagi\ F PWE 2UEU%EN ©EACzZA vjU 2ud 2013-14P RUEUHAZ

8Az agik£a£l Q1.

«2gUYA | 24E 11 £ 1l 2UE
£AAIMATMY “"AryU 84,000 84,000 84,000
£Ug, Al 2iE®i 72,000 72,000 72,000
.Aaqqio “"Aru 80,000 90,000 78,000
aj a “Ary 1,20,000 1,44,000 1,80,000
a iz “Aru 30,000 72,000 36,000
ajj°p ¥hawiz WAk vju 6,000 12,000 18,000
alf o2ifdtz ARz 2M°£ 8r 10000 8,000 12,000
alf o2ijdtz 2WPAAINE2DZ 8r 5000 10,000 15,000
2012-13g VjU 2udz 2_F AUz “ArUAIAEN »ACE - - 36,000

audze & k° 2irgidizi
 Aghtig2gh Uvaudz PEE 31-03-2013P F PYVE 2iA»wAil£ll aArgivig.

a) Cagh "ArU aigAile 24 2ivzi, wAU%U gk. 12,000 “ArU odgiwzAg. C2gh
2UEGER MAZA AUz AEAIEN wAUU gA. 6,000P MY ArU  mArgivig,
Aghitig2gh 2lio1¥ion vjU PEgia d2AAJAIREN ©EACzA, ErA 2i£U
gk. 3000 vjU ¥Aawigivig. @AUE 2iEAiL j¥AJ] A8L gk 12,000 2Z2£l)
_hgi+ig2g 2iArgivig.

b) “AAUAzA+z°gia E«l-ilAz §Az 22 AAilz 2g2iAE g&. 40,000.

c) Ailin.LoAz 8Az ~AAA g/. 8,000.

d) ,Aghtig2gh F PUVE CErPAILEN ©EACgivAg.

i) gk 200,000, 9% vjU 24P 2itdi “"zvA ¥vU%i (° 7 DVgiaie®)

i) g& 60,000, 7%g ,A® ¥vUYA el.n. «k i oAil«lv E2jU  A8AGLZA.
i) g/ 144,000, 10%g ~“AgwhAii «2iA aU2iz vjUu 2P _A® ¥vUYA

iv)  10% Gvg ¥zA+ ghdi «zlixi aU2iz _A® ¥v gk. 20,000.
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e) CAZ PbAjAil GhviAik ShvAik 2iA°£ §r g£. 2,000
f) oAilvPA°PUY° §g2tUUAV 8Az UEg@z£ gk. 2,000
0) «+«zAo®Ailz ¥JAPA PAAIASUKUAV ¥qz 2g2iAE g/k. 20,000.
vjU 2ud 2013-14P 2Aillv _Aghitig2gh Evg 2MERUKAZ ¥qz 2gRAE2EL ~ Q1.
<A =r
JEZE:- 80 CAPUY: ¥+¥wPU Egi@ PAAil ¥+UY.
Aiik2lzAzgE MAZA ¥HU GvjL. v 4 10 CAPUYA 1X10=10
14. 2g2iA£ vjU CEPAJAIA CEPAQUYER «2j1.
15. 8AQ@AY, ~A £l 2ASAn1, 8AQRAY Az ««z SUUYEN «2j1.
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